Dy, John D. Kraus,
Electrical ineering Department,
Ohio State University,

ot WY

Dear Jojn,

Your fine map of the Andromeda Nebula is
cortainly an exoellsat piece of observation. I note there
is no sign of a spherical radio hale, This proposed
phcnmnon for the Milkyway may de a child er tho theoreti-
Yo Keap up tYhe good work.

Observasions as 2082 XC have deen made hers
sinoe 4th of lobm with steadily eonditions.
The centre of the N kymha-only- ow percent the
mmmn: thim degrees a Some radio sources are in
the fore Presently I n working on the Small
Magellanie clud.

last year I 4id snother bYea# vine experiment.
The desoribed phenomencn is just percepiible hlew one foots
appreciable one %0 four feet) and very large above four
feed. The results you have were mont){h quoted in-extenso
in the Journal of &nﬂm, A% ﬁrlt I 1::?‘ this —tur
was just a toy %o 2”
at Green Bank. ® tm I'n onemtom s lot of
opposition from geneticists who fail 40 realise there is no
genetics in the experiment. Perhagl I have mitti.ngly
stumbled upon an empty branch of solence whish mijht de
called biomechanios.

Your letter of 14/2/63 and enclosurs arfived
3 !ha ued- were %00 late for last years planting
but g:t' $00n, The husk '.i‘h.ﬂ 17.3 mill me.

The thim 4 a median weight of 17.% milligrams with
a quagtile uago of +1.8 t0 ~1,5 milligrams. I ocannot f£ind
about the plant here., FPerhaps you could look in
ym 1llustrated book and find ¢ Linnua nane, Also I've
forgotten which way the vine olockwise (left hand
screw thread) or counter c¢loockwi (rizht hand sorew shread)?

Please remenmber me to your wife and sons.

Best regards,

Grote Reber.
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